JOON LOILOI

Glenwood Media Cabinet

ASSEMBLY INSTRUCTIONS

1

of 5



JOON LOLOI

ASSEMBLY INSTRUCTIONS

ID IMAGE DESCRIPTION SIZE QTY
Read these instructions carefully and keep for future
reference. Refer to parts inventory for guidance, and o @M@O ALLEN BOLT M8 x 30mm 8
ensure you have all pieces before starting. When
assembling, place all parts on a soft, clean, and flat G @ LOCK WASHER 14 x9mm 8
surface such as a carpet to prevent scratches.
G FLAT WASHER 19 x 9mm 8
PARTS INVENTORY Q & ALLEN WRENCH 5mm 1
ID | DESCRIPTION QTY
@ cromer 1 (E []mmmmm LEVELING GLIDE | M8 x 35mm 5
@ sioLecs ° (F o SHELF PIN 5mm 8
e MIDDLE LEG 1 @ @Bi)l)l)mm)n» SCREW M4 x 15mm 8

20of5



JOON LOLOI

STEP 1

Place the CABINET (1) on its back so that the bottom can be easily accessed. Slide LOCK WASHER (B) and then
FLAT WASHER (C) onto ALLEN BOLT (A). Align the bolt holes on the legs and attach them to the bottom of the
cabinet using ALLEN WRENCH (D) to screw in ALLEN BOLT (A). Do this for all 8 bolts for both SIDE LEGS (2) and the
MIDDLE LEG (3).

STEP 2

The LEVELING GLIDE (E) is located at the bottom of the CABINET (1). When you place the furniture in the desired
position, you can adjust the leveling glides depending on the surface. Make sure it is level and stable. Once your
cabinet is level, the assembly is complete.

30f5



JOON LOLOI

STEP 3

The wood adjustable shelf is attached to the SHELF PIN (F) for shipping. To change the position of the shelf, first
remove the SCREWS (G) from the SHELF PIN (F). Remove the shelf and relocate the SHELF PIN (F) to another set of
pre-bored holes. Reinstall the shelf.

b
NS

—

4 of 5



JOON LOLOI

OPERATING INSTRUCTIONS

This unit has been designed to support the maximum load as shown.

Exceeding these load limits could cause sagging, instability, product collapse, and/or injury.

WARNING! Death or serious injury may occur when children climb on audio and/or video equipment furniture.
A remote control or toys placed on the furnishing may encourage a child to climb on the furnishing and as a result the
furnishing may tip over onto the child.

WARNING! Relocating audio and/or video equipment to furniture not specifically designed to support audio and/or

video equipment may result in death or serious injury due to the furnishing collapsing or over turning onto a child.

CARE AND MAINTENANCE

¢ Use a soft, clean cloth that will not scratch the surface when dusting

¢ Using any kind of solvent on your furniture may damage the surface

* Never use water to clean your furniture as it may cause damage to the finish

e Liquid spills should be removed immediately. Using a soft clean cloth, blot the spills gently. To avoid abrasion, wipe
surface gently

* Make sure all bolts/screws are tightly fastened before the unit is used, check bolts/screws periodically and tighten
them if necessary

¢ In the event that your furniture is stained or otherwise damage during use, we recommend that you call a

professional to repair your furniture

50f5



